
Write down the exact value of Sin 870"

7th July
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Work out the image of the point (5, - 2)
when transformed by the matrix
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Show that ,y = 35 - 5x

xt2+r(+3+x+4xt2

.y=80
J = 70_lOr
Y = 35-{1
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showthar A = 175* 86x - l3x2

= 2x(x+ 3) + J (:x + 5)

= 7x1+ b*+ (:r-sx)(rr+s)
= 2xz+ 5x+l+5+8ox-l5x
= l?t + 9bx - l3,c'
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The shape below is made from two
rectangles.

The perimeter of the shape is 80cm.

The area of the shape is AcmZ
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Use differentiation to find the value of x
for which A is a maximum

{ = 8b-2bx-d*
OF 'n.,-r 8b - zLx = g, *= H (: ar",")
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